Blsk EW1050H 5|23 E#H4ST/24.5CC

1/3

BR



AU EW1050H 5|22 =X & #4ST/24.5CC

2/3

BR



Blsk EW1050H 5|23 E#H4ST/24.5CC

170/@ 2012/09

EW1050H 3/3

BR 3/3



BU3% EW1050H 5|83 & $4ST/24.5CC BR 1/5
ARER BHER e Rk | BE [ NO B BiE2 B!
001 135562-0 fiak:Ee 1
D10 INC. 2,41
002 922217-4 H.S.H.i24% M5X14 8
003 424530-1 AR ) 2
004 450565-6 HAZR 1
005 424100-6 BH 1
006 318442-7 pii ] 1
007 162276-8 g 1
008 922217-4 H.S.H.i24% M5X14 4
009 140023-7 EENEAG 1
010 162275-0 EENERR 1
oM 9222221 1242 M5X16 3
012 162274-2 R E R 1
013 318443-5 DER R 1
014 922217-4 H.S.H.i24% M5X14 3
015 346083-9 Bkt 1
016 318440-1 & EMR 1
017-1 922112-8 1242 M4X10 1
018 126299-0 ih B4R AR 1
019 213147-3 ShE 12 1 *
019-1 213089-1 OIL SEAL 12 < 1
020 213148-1 ShE 10 1 *
020-1 213769-9 SHhE 10 < 1
021 267400-9 FEA 23 1
022 265577-4 NAIZR M6X16 1
023 254040-2 HEH3 1
024 257781-9 TEREESH 1
025 318441-9 TEE 1
026-1 196595-0 SERIBA 1
027 233976-8 B Ex 2
028 326223-5 L2 1
029 911323-0 244 M6X16 2
030 125552-1 MR 1
031 268238-5 8K 5 1
032 313169-4 DERFHR 2
033 268239-3 K 4 1
034 234108-0 EHEEE 9 2
035 325668-4 EEMMG 2
036-1 326367-1 ERM 1
037-1 326366-3 HeR 8 1
038 256200-2 HEEH 5 1
039 256865-0 1= 25 2
040 125554-7 fed= 1 2
041 424200-2 A 2
042 168469-5 HRUH SRR 1
043 324980-9 KEH 1
044 345915-7 HERNE 1
045 345916-5 HERER 1
A

REA

THE—EZH -

FIEPHER 2017/11/17



BU3% EW1050H 5|83 & $4ST/24.5CC HR 2/5
ARER BHER ] Rk | BE [ NO = B2 B!
046 265184-3 + 7 EISRIRAAMSEX5 1
047 266440-4 #2412 M5X40 2
048 450559-1 1B 1
049 413120-5 BIERAHE 1
050 413121-3 {Lshesn g 1
054 450562-2 B E 3 1
055 325934-9 RERIRAR 1
058 345918-1 BEK 1
059 422041-0 BRE 1
060 422042-8 & 1
061 125468-0 SERIRA 1
D10 INC. 62-69
062 451925-5 FRRAZ 1
063 213540-1 O 15 1
064 424316-3 1E[EIR8 1
065 213539-6 O 38 14 1
066 451924-7 1EEIRR 1
067 424315-5 1E[ERE 1
068 168577-2 D EESSHIEC/5923503500 1
069 168576-4 AEERRIR 1
070 911218-7 SEEIZ 4K M5X14 1
071 450561-4 EREERE 1
072 443141-3 ZERUEERR 1
073 450560-6 PR AR 1
074 423376-2 W 1
075 345919-9 B ER 1
076 265188-5 HBERIRLL M5X68 2
078 141766-4 RN 1
082 922223-9 H.S.H.18%% M5X16 3
084 922213-2 #2242 M5X12 (W, WR) WR) 1
085 922228-9 A7\ AIR4 M5X18 2
086 450564-8 Ak 1
087 452144-6 KIEEE 1
088 911213-7 HRAAM5X 12 2
089 911128-8 FEEIRM4 4X16 2
090 911128-8 EERIRAL 4X16 2
091 195146-6 T REhRE4A 1
D10 INC. 92-99
092 232258-5 HREE 1
093 451937-8 i 1
094 444019-3 BENRSAR 1
095 424319-7 R EFER 1
096 325923-4 R 1
097 451938-6 IR 1
098 168483-1 B 1
099 266585-8 #2244 5X12 1
100 450566-4 BRI 1
101 125472-9 R A 1
s

AR A

THE—EZHF -

FIENHEA 2017/11/17



BUS% EW1050H 5|23 & $4ST/24.5CC EX 3/5
ARER BHER e foad £ |NOo = B2 B!
D10 INC. 167
102 163447-0 IR 2% 1 )
102-1 163447-0 WOREE RS o 1
103 168472-6 & 1
104 345920-4 BER 1
105 424102-2 EMR 1
106 424103-0 B ER 1
107 424104-8 FHfE28 1
108 168781-3 1Lihas 1
D10 INC. 110,113-119,121-127
109-1 WJ00014070 |iBiE4 1
110 346270-0 SHEDEINE 1
13 442155-9 Hiama 1
114 442154-1 FHERIREE 1
115 168575-6 B A 1 *
1151 WJ00009599 | & FRHR o 1
116 168574-8 R 1 )
116-1 WJ00963279 |SCREW o 1
17 266582-4 244 3X24 4
118 234183-6 B LR 5-9 1
119-1 WJ00096364 | #R4k 2
121 325922-6 g 1
122 257964-1 IFERER E-3 1
123 413140-9 #ghH 1
124 140437-0 EHHEa 1
125 140438-8 EREGREE 1
126 424314-7 FERE 1
127 213538-8 O 2 1
128 318702-7 et 1 *
128-1 319205-4 FLYWHEEL o 1
129 168501-5 BhAARE 1 *
129-1 168816-0 IGNITION COIL S 1
130 266602-4 1242 M4X20 2
131 126240-3 1L BARALA R 1 *
131-1 141794-9 STOP SWITCH COMPLETE S 1
132 324891-8 KEEIEE 1
133 168401-9 KEE 1
134 424105-6 rE 1
161 324961-3 ERE 1
162 213078-6 OE10 1
163 424201-0 1F[ERE 2
165 819432-8 BT 1
166 897794-4 SERIAL NO. LABEL 1
167 140436-2 RTHRRK 1
168 ME08121070 | fnssi4a 1
169 ME00204835 |fE%248 1
170 MEO01676311  |{&fB K%L 4
171 ME08121002 | 1
s

AR A

THE—EZHF -

FIENHEA 2017/11/17



BUS% EW1050H 5|23 & $4ST/24.5CC EX 415
ARER EHRT ma R | EE | NO B BiE2 !
172 MEO01676313 |\ B2 4
173 ME00200115 4
174 ME01676314 |# )} 4
175 ME01676315 |O%!FE 4
176 ME00200486 | 1
177 ME08121003 |%# 1
178 ME08121004 |#8%% 1
179 ME01676319 |Z#118 1
180 ME01676320 |O 1
181 ME08121005 |&%& 1
182 ME08121006 |F 4% 1
183 ME00200116 |7~ 8442 M8x35 4
184 ME00200117  |##} 4
185 ME01676323 |7~ faiRig 4
186 ME00200091 |FHE# A 4
187 ME08121007 |REPI 1
188 ME08121008 |#2#2iE4E G1 1
189 ME00200011 |7 242 M6x20 3
190 ME01676327 |i&#EE 2
191 ME08121009 |[#2& 2
192 ME08121044 |Z3%1FE 2
193 ME01689268 |iE3848 1
194 ME01676330 |#& 3
195 MEO01676331 |/KiZgE 2
196 ME01676329 |O 2
197 ME01676333 |# 4 99
198 ME01676334 |# 4 99
199 ME08121010 [3HiFI4g 1
200 ME01676336 |WR/KE 1
201 ME08121001 |NOTE LABEL 1
202 ME08121012 |NOTE LABEL 1
203 ME08121030 | EAAZHE 1
204 ME08121035 [5ERAT4E 1
205 ME03333192 |EEAZH 1
206 632B57-1 LEAD UNIT S 2
A01 ME08121017 |&EH=RF 1
A02 ME08121040 |BRikizsas 1 *
D10 INC. A03,A04 *
A02-1 ME08121040 |BRikizsaA < 2
D10 INC. A03,A04
A03 ME08121044 |%3%3/E 1
A04 ME08121045 |43 1
A05 ME08121051 [t 1 *
D10 INC. A06,A07 *
A05-1 ME08121051 [tk [¢] 1
A06 ME08121052 |#:ERIREG 1
A07 ME08121044 |Z2iE 1
A08 ME08121053 |#& 1
s

AR A

THE—EZHF -

FIENHEA 2017/11/17



BU3% EW1050H 5|83 & $4ST/24.5CC EX 5/5
PRES SHRSR ] T | BE |NO i1 Ei22 L)
A09 ME08122060 |%&4E 1
D10 INC. A10,A11
A10 ME08121044 |Z3%1FE 1
A1 ME08122068 |OFE 1
A12 ME08122030 |#&4E 1
D10 INC. A13-A15
A13 ME08122032 |t&E 1
A14 ME08122034 |[EZE#R%%k 1
A15 ME08122035 |OF 1
A16 ME08121060 | XiF 1
A17 ME08121044 |%4iF 1
A18 ME08121080 |3 iHsg 1
A

REA

THE—EZH -

FIEPHER 2017/11/17



